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Example 2 Manufacturing

A small company makes two similar products, which all follow the same two-

step process, consisting of cutting and gluing. Time requirements in minutes
for each product at each operation are given below. ——

product " bo — ‘%O
operation X ¥ Vel
cutting 1.5 0.8 6 %Ohr S 9‘900
gluing 0.6 2.2 6s h -
&~ 15>
The firm has{230 hours asvailable pn the next period for cutting an
for gluing. Product xcomributes $4.40 per unit to profit and v contributes

$4.50 per unit. Find the pr@ducl: mix that maximizes profit.
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Example 2 Manufacturing

A small company makes two similar products, which all follow the same two-

step process, consisting of cutting and gluing. Time requirements in minutes
for each product at each operation are given below.

product
operation X ¥
cutting 1.5 0.8
gluing 0.6 2.2

The firm has 30 hours available 1 pext period for cutting and 55 hours
Foredyung. FProduct xcontributef $4.40 Per unit to profit and v contributes
$4.80)per unit. Find the product s 4t maximizes profit.

1. Write Objective Funection
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9. Graph Constraint 77
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Example 2 Manufacturing

A small company makes two similar products, which all follow the same two-

step process, consisting of cutting and gluing. Time requirements in minutes
for each product at each operation are given below.

product
operation X ¥
cutting 1.5 0.8
gluing 0.6 2.2

The firm has 30 hours asvailable 1n the next period for cutting and 55 hours
for gluing. Product x contributes $4.40 per unit to profit and v contributes
$4.50 per unit. Find the product mix that maximizes profit.

1. Test Vertices
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Example 3: Runmng a Bakery

A halrine traw af aomn miffine falraa da mille and 20 Aaim A trav af hran
Fa ruu-\.al.l.a.a.n i '\.H.I-:_r" AL RANEEY PEIGIRE BRESS LSERITRSS SR, PRERLR SRER) o0 DEOILEE", S LEAW LU L2 H
e 1 1 i 11 1 m o1 1 TT
i o balrme Tl mrmd Oaflasin & haleow ke ) TT.
flldiiiil;e WA AT Al I.J.J.J_I.IL ciilid oi TOFLL . SR aiiol L Lhr
-

makes §3 profit per tray of corn and §2 profit per i:ray of bran mufﬁns How
many trays of each type of muffin should he bake to get maxlmum m"a:rﬂt?
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2. Write Constraints
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Example 3: Runmng a Bakery

A halrine traw af aemn miffine falraa da mille and 2 Aaim A trav af hnan
Fa r\.ru-\.al.l.a.a.n i '\.H.I-:_r" AL RANEEY PEIGIRE MRECS LSERIDCS Si. PRERLR SRER) o3R8 DEONREE", A% LE '\_H.h:_r" L RL ALl

e 1 1 i 11 1 m no1 1 1 4 5 11 1 41 F m TT
B o br o Ta vl armd Taflasgm & halror hao 18a 121l mard 1Ea fAnime I

lilidiiiiio LABTO Al I.].J.J_I.IL il oo LD, L WanTL lida Lt J.].J.J_I.IL dliid dlofo LiVig, LiT

makes §3 profit per tray of corn and §2 profit per tray of bran muffins. How
many trays of each type of muffin should he bake to get maximum profit?

1. Write Objective Function ?__ BX +’l # /
1. Graph (both bv hand and on 7 .(g)‘é\
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Worksheet




